Honors Algebra 2 Trig. Chapter P Review

Simplify
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Perform the indicated operation.
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10. (—6x3 +5x%2 —8x+9)+(17x3 +2x? —4x—13)

11. (8x2 +7x—5)—(3x2 —4x)—(—6x3 —5x2 +3)

12. (x+1)(x2 —x+1)
13. (4x2 +5x)(4x2 —5x)

14. (x-3)’

15.

(3x+7-5y)(3x+7+5y)

Factor Completely
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X(x+5)+3(x+5)
3x}—2x*—6x+4
3x* - 25x-28
2X% +3xy + y?
36x* —49
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Find the domain. Write the answer in interval notation.
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30.
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Simplify. Don’t forget to write the domain restrictions.
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X2 —6X+9

y>+7y-18

y> -3y +2

x2—5x+6_x2—1
x2—2x-3 x*—4
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